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RRAARAL: (1) ol oy WL R UL 8.
(2) UG AR AR E52 6.
(3) MR oy EUIAE 5 UL YRL L LR 8.

Lo (A) AU B2 USRAL S B 7 AHAL AR QUL 247 518 D] AL 4
(B) ARl HUS uRell x 247 y 42AA Asioiuis A : 6
x |3 4 6 7 10
y [ 9 11 14 15 16
AL
. (A) [Rad Aetudl Guaibidl e 4
Y
(A)  [Aad AotasiqL sifusl ol ARl el 4
(B) ARl HUSl GuRall y ol vzl [Rad Aots A1, 501 And) - 6
x4 b 53 2 1 2 7 3
y{ 6.1 0 0 1 2 1 5
2. (A) M (RIUeHS U0t BE10L Al vl 2l 4
(B) A=A 8l U2l 2 x 2 contingency 2AAE HI2 RUCHS UGHAL USIR A5 S, 6
) B | B Total
A 30 10 40
o 40 20 60
Total 70 L30 __I‘OO
Y4l
l P.T.O.
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- [Max. Marks : 50



(A) 4@l A 2t 10wl 2ld AHandl.

(B

(B) H@{l <A A 1A B <R 2|RUcHS Urels Hodl

| B B | Total

A 220 80 300

‘ o 30 70 100
Total | 250 | 150 | 400

S — | -

3. (A) o{g[c\m AsUAY (Multiple Correlation) -‘clfi ?
(B) ir,,=0.80,r,;=0.64,r,, =0.79 Sl dll, cis[Axt AALIL RS R, 55 Wkl
AYq
3. (A) il
(B) W Zx, x, =65, Ix| = 305, Trs=22

x, =5, Zx, = 0 244 n = 10 Sidell r,, LM,

4. (A) x,dlx, 2 WRedl ol (A Aot 31 A{ls0L el
(B) ARl MRl MR x, “dlin, 2 x; URAL ottt [RRaet AL 14 A5 2l -
.-_fl 261?2:‘ 1,f3=74.,

b3 =031.b,;,=0.06

Y4l

4. (A) 2ULs [Hud UoAHls (partial regression coefficient) b, 3-1%91 QAL
(B) A1l (Ml :
(a) iR, =0.264+0.36.x,+0.59x,
r-ﬂxz =10 i+ X3=9 HI2 Xy gl

(b) As, =2,5,=3,1,,=07.1,;=06r,,=04 &b, Wl

JJ-104 9



AZLALAL AL AL (SLSURLEU)

(1) 58 Ygldt aaz] uHa 2l ¢
(a) Ha-l=ld
(b) RUURAHAAL $HIS AU AL A
(c) [(aslel sl a

(d) MR RA

(2)  UR AAAUSAL HEA SHIS 0 JUUARL UL SR ol AU, LUl
Gual AL 6.

(@)  s1el Rl o Maud-l Ad (b)  RUAURAAAL SHIS UL

(c) [aslal 2ugla-l d (d)  UsALUS Wrdll 28l
(3)  UsALHUS BuR GLROGIE R S 3@ WRAAAAL AR 2l 21l
(a) AR b) A
(4)  olglan [Rud Aot Hide HI2 ANOVAULSST =
(a) Z(yi-y) (b) Z(¥-yi)
(€) Z(¥-9) (d)  Z(y-9)?
(5) “UR2=0.9354 24 SSR = 1391 €1 cll SST = ?
(a) 1444 (b) 1468
(c) 1487 - (d) 1478
(6) Wb, 45=0.502tb,, 3=0.40 SRAcllr,;=_
(a) 0.3035 (b) 0.4472
() 03535 (d) 0.5353
(1) etsual [Aud Aoliu HisaAl ANOVA 51285 HI2 §E UG-l edzict-l ARl
NUK:?
(@) n (b) n-—1
(¢c) n-3 (d) n-k
(8) @n=163Ar=0.7 S dl At €™ =
(a) 0.123 (b) 0.248
(¢) 0.085 (d) 0.0812

10

A

T ————————



9) ANQ= SPLAL A B B 2t 9. 21 <L UsIA.

———— R ——————

(a) 0 (b) |

(c) -l d) 2
(10) Asdous-l [5Hd 2| el HL G165

(@) 0.1 (b) -1:1

() - (d) -1;0

(1) 21N =100, (A) = 40 24 AB flrl%{ﬁ.@lcl%ﬂ%ﬁi=%§l=2 12

(12) y Al x VRl FucRiois i a4w{lseL 2x + 5y — |

= 2.
-5
(a) 9 (b)
© =

4

\

QO
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MDC-STA-] 14 (A) : Statistics
(Application of Statistics in Economics)

(As Per NEP - 2020)
rime : 2 Hours] [Max. Marks : 50

[pstructions : (1) All questions carry equal marks.
(2) Simple calculator can be used.
(3) [Figures to the rnight indicate full marks of the question:

| (A) How many type of correlation are there ? Write their names and explain any one

of them. 4
(B) Find correlation co-efficient between x and y : 6
X 3 4 6 7 10
y 9 11 14 15 16
OR
1.  (A) Explain uses of Regression. 4
OR
(A) Write any two properties of regression coefticient 4
(B) Obtain equation of regression line from the following data of y on x 6
\ l 5 3 2 1 2 7 3
sl 4 o o 1 2 1 3
2. (A) Define Positive Association with illustration. 4
(B). Find outfype of Association for 7 x 2 contingency table : &
| B B Total
A T30 | 10 | 40
a 20 | 20 | 60 |
Total 70 | 30 | 100
OR
S P.T.O.
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(A) Explain Yule's method and proportion method.

|J

(B) Find co-cfficient of Association between A and B by using Yule's method :

—— e —— A —— —— = i

B B Total

1 | ——

A 22() 30 300

}

o 30 70 100

' Total | 250 | 150 | 400

'2J

(A) What s Multiple Correlation ?
(B) Itry,=0.80, r;=0.64,r,, =0.79,

find Multiple Correlation Co-efficient R ..

OR

3.  (A) Wnte formulaofr, ,.

= 22

IV

(B) IfZxx, =65, Ix] = 305, Zx
Sy, =5, Zx, = 0,n= 10,

then find I\

4.  (A) Write multiple regression line equation of x, on x, and x,.

(B) From the given data, find regression line equation of x, on x, and x; :

b, 5= 0.31, by, , = 0.06

OR

4.7 (A)._Write formula for partial regression co-efficient for b, ;.
(B) Find the following :
(a) IfX,=0.264+0.36 x, + 0.59 x,

Estimate X fOl’.\"z =10and x; =9
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(7)  In ANOVA TABLE tor multiple regression model. degree of freedom due to total
variation 1S
(@) n (b) n-|
(¢) n-3 (d) n-k

4

N\

(8) Ifn=16andr=0.7, then valuc of probable error is

(a) 0.123 (b) 0.248
(c) 0.085 (d) 0.0812

¢

(9) A and B are said to be independent if Q =
(@) 0 (b) 1
(c) -l d) 2

(10) The value of correlation co-cfficient lies from .

(a) O;1 (b)
(C) —o0; (d)
(1}), If expected frequency of AB is @ a = 100, (A) = 40 then (B) =

(a) 40 ’
80

(c)

(b) 50
\ (d) 70
(1;) The regressio onxis2x+S5y—12=0thenb, =
- é
() & ) (b3
2

Iq E @ 3






